
SB 2005 I DuraDisc 200
SB 2405 I DuraDisc 240
SB 2805 I DuraDisc 280

Samlevejledning
Assembly Instruction
Montageanleitung
Liste de montage

X03
Sta

rt h
ere



  
   
 
 

Ma Ø Grade: 8.8 
MA[Nm] (lb-ft) 

Grade: 10.9 
MA[Nm] (lb-ft) 

Grade: 12.9 
MA[Nm] (lb-ft) 

M 8 25 (18) 33 (25) 40 (30) 
M10 48 (35) 65 (48) 80 (60) 
M12 80 (59) 120 (89) 135 (100) 
M12x1,25 90 (66) 125 (93) 146 (108) 
M14 135 (100) 180 (133) 215 (159) 
M14x1,5 145 (107) 190 (141) 230 (170) 
M16 200 (148) 280 (207) 325 (240) 
M16x1,5 215 (159) 295 (218) 350 (259) 
M18 270 (199) 380 (281) 440 (325) 
M20 400 (295) 550 (406) 650 (480) 
M20x1,5 430 (317) 615 (454) 720 (532) 
M24 640 (472) 900 (664) 1100 (812) 
M24x1,5 690 (509) 960 (709) 1175 (867) 
M30 1300 (959) 1800 (1328) 2300 (1697) 

PAFS-001x-03 - 00 



PAFS-001x-03 - A

SB 2005 I DuraDisc 200

SB 2405 I DuraDisc 240

SB 2805 I DuraDisc 280

 
 

3



PAFS-001x-03 - B

Box 1

SB 2805 I DuraDisc 280

Box 1.1

2320-832x

1 x 1362-1016 (4 pcs.)

1 x 

 
 

4



PAFS-001x-03 - C

2 x M18 x 45

1213-6423

2 x M10 x 145

2082-248x

1 x M10 x 25

1213-3225

2 x M12 x 90

1214-4330

2 x M10 x 130

1214-3430

2 X M10 x 40

1215-3420

2 x M10 x 25

1219-0526

2 x Ø7 x 36

1251-5202

2 x M20  Nyloc

1220-6321

7 x M10 Nyloc

1220-3321

5 x M12 Nyloc

1220-4321

1 x 2082-164x

4 x 2114-175x

2 x 2082-069B

2 x Ø10.5 / 25 x 4

1241-2603

4 x Ø20.2 / Ø34 x 1,5

1241-5301

4 x Ø13 / 24 x 2,5

1241-3403

2 x Ø7 x 40

1251-5301

1 x Ø12 x 70

1251-7602

1 x Ø7 x 70

1251-5602

3 x M12 x 30

1213-4322

2 x M8 x 20

1213-2222

3 x M10 x 80

1214-3330

6 x M10 x 60

1214-3226

2 x Ø8,4 / 30 x 3

1241-1502

4 x Ø11 / 30 x 3

1241-2504

8 x Ø11.5 / 23 x 1,5

1241-2308

1 x Ø 12,5 (M10)

1242-3221

12 x Ø10,2 / 28 x 1

1234-0101

4 x M10

1220-3122

5 7

1 x Ø20 x 85

2082-411x

1 x Ø20 x 75

2221-109x

1 x 2082-133x

1 x Ø51 / 40

2082-020x14

1 x 1338-0105

1 x Ø12 / 49,6 x 6

2081-059x

1 x 2081-332x

1 x 1433-0292

4 x 1393-0121

1 x 1433-0312

Box 1.1

2 x M10 Nyloc

1220-3321

SB 2805 I DuraDisc 280

4 x Ø10

1254-4201

1 x Ø8

1254-3201

8

10

4 x 2089-862x

 
 

5



PAFS-001x-03 - D

Box 2

1 x 1362-1016 ( 4 pcs. )

1 x 2082-490x

1 x 3082-312x

2 x

1 x 2210-397x

4 x M12 x 55

1214-4223

4 x Ø11,5 / 23 x 1,5

1241-2308

4 x M10 Nyloc

1220-3321

2 x Ø15 x 40

1251-8301

4 x M10 x 20

1215-3228

1 x 

1 x 1299-0108

1 x 2082-045x

1 x 2320-928B (SB 2005) I 1x 3224-645x (DuraDisc 200) 

1 x 2320-926B (SB 2405) I 1x 3224-646x (DuraDisc 240)

1 x 2320-927B (SB 2805) I 1x 3224-647x (DuraDisc 280)

 
 

6



1 

2 

3 

4 

1

2

3

4

PAFS-001x-03 - 01

SB 2805 I DuraDisc 280

2 x 1214-4330

2 X 1219-0526

2 x 1220-3321

3 x 1213-4322

3 x 1220-4321

2 x 1215-3420

2 x 1241-2603

2 x 1220-3321

1 x 2082-164x

4 x 2114-175x

4 x 1214-4223

2 x 1220-4321

4 1241-3403

120 Nm

(88 ft.lb)

 
 

7



F 

3 

A

3

PAFS-001x-03 - 02

2 x 1241-5301

2 x 1251-3201

1

2

.

1

1 x 2082-045x

2

440 Nm

(325 ft lb)

2 x 1213-6423

1 x 2082-133x

2 x 1251-8301

1 x 2082-411x

 
 

8



B

C

PAFS-001x-03 - 03

2 x 1251-5301

1 x 2081-332x

1 x 2221-109x

1 x 2081-398x

4 x 1254-4201

1 x 1254-3201

1 x 2081-399x

1 x 1433-0292

 
 

9



A

PAFS-001x-03 - 04

9
8
0

5

0

0

1

8

0

0

2 x 1220-6321

2 x 2082-069B

1 x 1251-7602

1 x 1251-5602

 
 

10



A

PAFS-001x-03 - 05

(4) x 1362-1016

8 x 1241-2308

4 x 1241-2504

1 x 2082-020x

1 x 1338-0105

1 x 2082-130x

1 x 2081-059x

1 x 1242-3221

1 x 1213-3225

4 x 1220-3122

4 x 2089-862x

2 x 2082-248x

2 x 1214-3430

1

2

3

4 x 1220-3321

4 x 1393-0121

1 x 1220-3321

F 7.5 daN (Kg.) =  30 - 35 mm.

2

 
 

11



1 

2 

A

1

2

PAFS-001x-03 - 06

3 x 1214-3330

12 x 1434-0101

9 x 1220-3321

1 x 1433-0312

6 x 1214-3226

4 x 1215-3228

4 x 1220-3321

1 x 2082-490X

4 x 1241-2308

 
 

12



PAFS-001x-03 - 07

1

2

2

2 x 1213-2222

2 x 1241-1502

1x 2320-928B (SB 2005) I 1x 3224-645x (DuraDisc 200)

1x 2320-926B (SB 2405) I 1x 3224-646x (DuraDisc 240)

1x 2320-927B (SB 2805) I 1x 3224-647x (DuraDisc 280) 

 
 

13



A

PAFS-001x-03 - 08

1 x

1 x 1299-0108

 
 

14



PAFS-001x-03 - A

SB 2005 I DuraDisc 200

SB 2405 I DuraDisc 240

SB 2805 I DuraDisc 280

 
 

15



PA
FS

-0
01

x 
03

 S
B 

20
05

/2
40

5/
28

05
 I 

D
ur

aD
is

c 
20

0/
24

0/
28

0 
- 0

8.
20

18


	Blank Page



